Chapter 10 Mid-Chapter Practice Test 5o

(Lessons 10-1through 10-4)
L@ ) 2.)

Part1 Write the letter for the correct answer in the blank at the right of each question

1. Which expressionhasarangeof { v |y = 2}?

Ay=Vx—2 By=vx+2 Cy=+vx-2 Dy=+x+2 P

2. Which expression has adomainof {x | x> 1}?

Fy=vVx—1 Gy=vx + 1 Hy=+x-1 Jy=vx+1 2:
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1. Which expressionhasarangeof { y |v = 2}?
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6. SolveV9In—2-n=2.

‘\)qh—’ﬂl‘—"‘ = A=

7.Solvev3b—7=+v9 — b + " <+ W\

e

_..(V\ + QJ

(’Vfa\ n=Z _/

-~ ™ -f-‘?h"fq

4v\+2- - Glmj_:f___
—ON

/ "SV‘+6
- (ln ..Z)(w" 3) =0

47




6. SolvevIn—2 —n=2.
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PartlI
Simplify each expression.
o Ca+v) Ca-D)
8.V14 (3v2-5V7) 9.(4/3+5)(4/3-5)
10.+/242 + 34162 11. W3 -4/6 -3




For Questions 13 and 14, solve each e
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